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1. P(A)=0.7,P(B) =04,P(AB) =0.2.

a. Venn diagram. Hint: P(A BS) =P(A) - P(AB)
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b. Iﬁ:g_,dlagram Hint: P(B| A)=P(AB) /P(A).
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1. P(A)=0.7,P(B) =04,P(AB) =0.2.

c. From the Venn Diagram, find P(B) and P(A | B) .
P(B) = P(AB) + P(A®B), P(A' B) = P(AB) / P(B
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2. P(OIL) = 0.1, P(+] OIL) = 0.7, P(+] no OIL) = 0.2.
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There was no question 3.
a. What 1s the approximate probability of landing on Boardwalk

(or any other property) in Monopoly? o % (fg = wAy L 475()

b. If the rent on that property is $200 what is the expected return
to the owner from one player-circuit of the board?
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c. If a player owns properties with rents #100 $150, $300 what
Is the expected return from three player circuits of the board?
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. P(A)=04,P(B) =0.5,P(AB) = 0.20.

P(ALB).
P(AUB) = P(A) + P(B) - P(AB) always.
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. From definition P(B | A).
P(B1A)=P(AB)/P(A).

[ 4 L / ° 7 : //L
. Are A, B independent of each other? Show reasoning! Does P(AB) = P(A)P(B)?
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S V4
5. PA)=04,PB)=03,P(B1A)=0.6.

a. Give P(AB).
P(AB)=P(A) P(B | A) always if P(A) > 0.

P(AB) = PR [BIA) = -4 (8)=. 2/

b. Are A, B independent? Is P(B) =P(B | A)?
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c. Fill out a complete Venn Diagram. & ff ENDET 2 ;



6. X=drawfrom {2 4 4 6}. Y draw from {2 2 2 6}. Qﬁ@gWOI\lf
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7. EX =-%$0.60 and Var X = $9.
T = X1 + X2 +..... + X10000 (independent plays)

a. ET=EX1+EX2+..... + E X10000 = /oo o (_;4{0/ B "(&OO
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b. VarT = Var X1 + ...+ Var X10000 = LoD (7)

or=VVarT = V/,ywo g = //0496(9 ﬁ; Sop
c. Approximate distribution of T. (CLT "central limit theorem).
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